FixBRER/IN /N EBIR A (B O[ L

PC/J0

TR iﬁ’fﬁ Size (mm)
Part Number S

11000J0030050006 M3 x6 5.35
11000J0030050008 M3x8 5.35
11000J0030050010  M3x10 5.35
11000J0030050012 M3x12 5.35
11000J0030050016  M3x16 5.35
11000J0030050020  M3x20 5.35
11000J0030050025 M3x25 5.35
11000J0040070006 M4 x6 6.82
11000J0040070008 M4 x8 6.82
11000J0040070010  M4x10 6.82
11000J0040070012 M4x12 6.82
11000J0040070016  M4x16 6.82
11000J0040070020  M4x20 6.82
11000J0040070025 M4 x25 6.82
11000J0040070030  M4x30 6.82
11000J0040070040  M4x40 6.82
11000J0050080006 M5x6 7.82
11000J0050080008 M5x8 7.82
11000J0050080010  M5x10 7.82
11000J0050080012 M5x12 7.82
11000J0050080016  M5x16 7.82
11000J0050080020  M5x20 7.82
11000J0050080025 M5x25 7.82
11000J0050080030  M5x30 7.82
11000J0050080035 M5x35 7.82
11000J0050080040  M5x40 7.82
11000J0060100006 M6x6 9.82
11000J0060100008 M6x8 9.82
11000J0060100010  M6x10 9.82
11000J0060100012 M6x12 9.82
11000J0060100016  M6x16 9.82
11000J0060100020  M6x20 9.82
11000J0060100025 M6x25 9.82
11000J0060100030  M6x30 9.82
11000J0060100035 M6x35 9.82
11000J0060100040  M6x40 9.82
11000J0060100045 M6x45 9.82
11000J0060100050  M6x50 9.82
11000J0060100060  M6x60 9.82
11000J0060100070  M6x70 9.82
11000J0080125010 M8x10 12.79
11000J0080125012 M8x12 12.79
11000J0080125016  M8x16 12.79
11000J0080125020 M8x20 12.79
11000J0080125025 M8x25 12.79
11000J0080125030  M8x30 12.79
11000J0080125035 M8x35 12.79
11000J0080125040  M8x40 12.79
11000J0080125045 M8x45 12.79
11000J0080125050  M8x50 12.79
11000J0080125100 M8x100 12.79
11000J0100150020 M10x20  15.79
11000J0100150025 M10x25  15.79
11000J0100150030 M10x30  15.79
11000J0100150035 M10x35  15.79

SHLRET A& Size (mm)

Part Number M S K

11000J0100150020 M10x20  15.79 6.4
11000J0100150025 M10x25 15.79 6.4
11000)0100150030 M10x30 15.79 6.4
11000J0100150035 M10x35 15.79 6.4
11000)0100150040 M10x40  15.79 6.4
11000J0100150045 M10x45  15.79 6.4
11000J0100150050 M10x50  15.79 6.4
11000J0100150055 M10x55  15.79 6.4
11000)0100150060 M10x60  15.79 6.4
11000J0100150065 M10x65  15.79 6.4
11000J0100150070 M10x70  15.79 6.4
11000J0100150075 M10x75  15.79 6.4
11000)0100150080 M10x80  15.79 6.4
11000J0100150090 M10x90 15.79 6.4
11000)0100150100 M10x100 15.79 6.4
11000J0100150110 M10x110 15.79 6.4
11000)0100150120 M10x120 15.79 6.4
11000J0100150130 M10x130 15.79 6.4
11000)0100150140 M10x140 15.79 6.4
11000J0100150150 M10x150 15.79 6.4
11000J0120175010 M12x10 17.79 7.5
11000J0120175025 M12x25  17.79 7.5
11000J0120175030 M12x30 17.79 7.5
11000J0120175035 M12x35 17.79 7.5
11000J0120175040 M12x40  17.79 7.5
11000J0120175045 M12x45  17.79 7.5
11000J0120175050 M12x50 17.79 7.5
11000J0120175055 M12x55  17.79 7.5
11000J0120175060 M12x60  17.79 7.5
11000J0120175065 M12x65  17.79 7.5
11000J0120175070 M12x70  17.79 7.5
11000J0120175075 M12x75  17.79 7.5
11000J0120175080 M12x80  17.79 7.5
11000J0120175090 M12x90 17.79 7.5
11000J0120175100 M12x100 17.79 7.5
11000J0120175110 M12x110 17.79 7.5
11000J0120175120 M12x120 17.79 7.5
11000J0120175130 M12x130 17.79 7.5
11000J0120175140 M12x140 17.79 7.5
11000J0120175150 M12x150 17.79 7.5
11000J0140200020 M14x20  20.58 8.8
11000J0140200030 M14x30 20.58 8.8
11000J0140200040 M14x40  20.58 8.8
11000J0140200050 M14x50  20.58 8.8
11000J0140200055 M14x55  20.58 8.8
11000J0140200060 M14x60  20.58 8.8
11000J0140200070 M14x70  20.58 8.8
11000J0140200080 M14x80  20.58 8.8
11000J0140200090 M14x90  20.58 8.8
11000J0160200020 M16x20  23.58 10
11000J0160200030 M16x30  23.58 10
11000J0160200040 M16x40  23.58 10
11000J0160200050 M16x50  23.58 10
11000J0160200060 M16x60  23.58 10
11000J0160200065 M16x65  23.58 10

S0t it W W wwwwwwhNNNNDNNNDN
-l>-l>-l>.l>uuuuwwuuuuuuuuwww";'b">">">'b'h'b">'h'b'b'h'b(.ru.ﬂu-lu-lu-lu-lu-lu-lu-lU'looooooooooooooooooNNNNN'\”\)7<



o hix B Ba/SM 7S A IR AR

PC/JO

EHiRE
Part Number

11000J0160200070
11000J0160200080
11000J0160200090
11000J0160200100
11000J0160200110
11000J0160200120
11000J0160200130
11000J0160200140
11000J0160200150
11000J0180250020
11000J0180250030
11000J0180250040
11000J0180250050
11000J0180250060
11000J0180250070
11000J0180250080
11000J0180250090
11000J0180250100
11000J0180250110
11000J0180250120
11000J0180250130
11000J0180250140
11000J0180250150
11000J0200250030
11000J0200250040
11000J0200250050
11000J0200250060
11000J0200250070
11000J0200250080
11000J0200250090
11000J0200250100
11000J0200250110
11000J0200250120
11000J0200250130
11000J0200250140
11000J0200250150

&

M
M16x70
M16x80
M16x90
M16x100
M16x110
M16x120
M16x130
M16x140
M16x150
M18x20
M18x30
M18x40
M18x50
M18x60
M18x70
M18x80
M18x90
M18x100
M18x110
M18x120
M18x130
M18x140
M18x150
M20x30
M20x40
M20x50
M20x60
M20x70
M20x80
M20x90
M20x100
M20x110
M20x120
M20x130
M20x140
M20x150

. . S o
:@miﬁ:'aif’ O t:

Size (mm)

S K
23.58 10
23.58 10
23.58 10
23.58 10
23.58 10
23.58 10
23.58 10
23.58 10
23.58 10
26.58 115
26.58 11.5
26.58 115
26.58 11.5
26.58 115
26.58 11.5
26.58 115
26.58 11.5
26.58 115
26.58 11.5
26.58 115
26.58 11.5
26.58 115
26.58 11.5
29.58 125
29.58 12.5
29.58 125
29.58 12.5
29.58 125
29.58 12.5
29.58 125
29.58 12.5
29.58 125
29.58 12.5
29.58 125
29.58 12.5
29.58 125

SHET

Part Number
11000J0200250200
11000J0220250100
11000J0220250200
11000J0240300100
11000J0240300200
11000J0270300100
11000J0270300200
11000J0300350100

Mg
M
M20x200
M22x100
M22x200
M24x100
M24x200
M27x100
M27x200
M30x100

Size (mm)
)
29.58
335
335
355
355
40.5
40.5
455

K
125
14
14
15
15
17
17
18.7



	Sheet2

